> eql = s i 2-(s+2) _ 2

(s+3)7  (s—=1-(s+3)>  (F£+4)-(s+3)*
2(s+2 2
eqli=—— ¢ 2L+ : )
i (s+3) (s—1) (s+3) (s"+4) (s+3)
> eq2 = simplify(%);
4, 3 2
eq2 = s+ 2—i—8s +2S2+ 18 Q@)
i (s+3)" (s—1) (s +4)
> eq3 = convert(eq2, parfrac, s);
_ 3 1 12s—10 69 749
“CTRG—1) T 10 2+a 2 543 1352 (s+3) )
;> with(inttrans) :
> inviaplace(eq3, s, t);
32 28 — 2 sin(21) — — e (3588 1 — 749) @)
i 8 169 169 1352
> eqd = (2-s+92) n 2 _— 22-(s-|—4) -
(s+3) (s—1)-(s+3) (s"+4) (s+3)
2s+9 2 2 (s+4
eqd = 4 s e lstd) 3)
i (s+3) (s—1) (s+3) (s"+4) (s+3)
> eq5 = simplify(%);
25 475 435 +345—36
eqs = 5 5 (6)
i (s+3)" (s—1) (s +4)
> eq6 = convert(eq’, parfrac, s);
1 1 -38s5+88 69 2839
6:= 7
TR G—1 T 2ia 26543 | 1352 (s+3) M
B invlaplace(eq4, s, t);
1+ 38 44 . 1 -3¢
I 2 e _169 cos(2t) +_169 sin(2 t) +—1352 e ~ (2839 + 3588 1) ¢))
> del == diff (vI1(t),t) =-4-yl(t) —y2(t) +2-exp(t);
del = %y](t) =-4yl(t) —y2(t) +2¢ )
(> de2 = diff (v2(1), 1) =1 (1) —2-y2(1) +sin(2-1):;
de2 :=%y2(z‘) =yl(t) —2y2(t) +sin(2 1) 10)
B sysde == del, de2; ics := yl1(0) =1,y2(0) =2;
sysde = %y](t) =-4yl(t) —y2(1) +2€t, %yZ(t) =yl(t) —2y2(t) +sin(2¢)
i ics:=yl(0)=1,y2(0) =2 a1
> dsolve([sysde, ics]);
_ 749 3¢ 69 -3y 3 12 5 . _ 2839 -3¢
{y](t) 1350 e %6 e " t+ 2 e +_169 cos(2t) 160 sin(2¢),y2(t) 1350 e (12)
69 -3¢ 1+, 44 . 38
+ %6 e " t+ 2 e+—169 sin(2 ¢) 160 cos(2t)}
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